( PE R FO R MA N C E TE C‘ H N O LO C‘ Y Big Bore Springs Front (Medium) Big Bore Springs Rear (Long)
= A ] CR177 CORE RC Big Bore Spring Tuning Set; Med 7prs CR178 CORE RC Big Bore Spring Tuning Set; Long 7prs
CR179  Big Bore Spring; Med White - 2.8 pr CR184 Big Bore Spring; Long White - 1.8 pr
Wheel Nuts - M4 Serrated Flanged CR180 Big Bore Spring; Med Red - 3.1 pr CR185 Big Bore Spring; Long Red - 2.0 pr
CR024 CORE RC - Serrated M4 Steel Wheel Nut pk4 CR181 B?g Bore Spripg; Med Green - 3.4 pr CR186 B?g Bore Spr?ng; Long Green-2.2 pr KB
CR035 CORE RC - Serrated Alloy M4 Nuts; Blue pk 4 CR182 B!g Bore Splnng; Med Blue - 3.7 pr CR187 B!g Bore Spr!ng; Long Blue - 2.4 pr
CR036 CORE RC - Serrated Alloy M4 Nuts; Violet pk 4 CR183 B!g Bore Spr!ng; Med Black - 4.0 pr KB CR188 B!g Bore Spr!ng; Long Black - 2.6 pr
u7084 CR196 CORE RC - Serrated Alloy M4 Nuts - Black - pkd CR635 B!g Bore Spr!ng; Med Orange - 4.3 pr CR699 B!g Bore Spr!ng; Long Orange - 2.8 pr
CR304 CORE RC - Serrated M4 Titanium Wheel Nut pk4 CR636  Big Bore Spring; Med Yellow - 4.6 pr CR700 Big Bore Spring; Long Yellow - 3.0 pr

CR808 High Response Spring; Long Red - 2.0 Ib/in (pr)
CR809 High Response Spring; Long Green - 2.2 Ib/in (pr)
CR810  High Response Spring; Long Blue - 2.4 Ib/in (pr)

U7400 Serrated M4 Low Profile Titanium Wheel Nut pk4
u7728 . U7085 p

—, —U3667 _ CR811  High Response Spring; Long Black - 2.6 Ib/in (pr)
AX005 CR812 High Response Spring Tuning Set Long 4prs
urer7 See P35 for .
See below and more options.
P35 & P36. " U4275 KB
CR282 Ti U7084
U7630 u7123
. U7085
U7633 Complete Alloy Differential Option U706 urrzg * -

— —{U3667)

T\\\ﬁ‘“\i‘@ﬂ‘}?f @ qtﬁ& See below and
P35 & P36.

oy @

U4275 KB
Useso)  \CRe82Ti
. _ (U7630) 07632

U7994 AL

u7107
U2698 KB
e U4946 Pro
N /-

Complete Standard
Differential - U7700

=
U7337 KB [}
p - U7404 AL
o

U7615 80t KB
U3348 80t CNC
U3790 76t CNC
U4226 71t CNC
U7616 78t CNC

U7625 KB =
U4890 AL | Jall
|
U4707

U7132 Rear Shocks
(Excluding Springs)

U7646 -0.75
¥ U7398 -3.0
U7402 1.5
U7403 KB
U7647 +2.25
U7648 +3.0

U7672 KB
U7673 Ti

| rs67)

CR024 KB
See above for
more options.

See P38 & P39

U7131 Front Shocks
(Excluding Springs)

u3r12 o°

Big Bore Pistons
U3758 5°KB U3670  Big Bore Piston; 2 Hole White 1.5 (pr)
U4228 5°AL U3770  Big Bore Piston; 3 Hole White 1.5 Rounded (pr) KB Front

U4380 KB U4367 Wheel Hex - Front - 2WD - Black U4701  Big Bore Piston - 3 Hole Black 1.6 Rounded (pr)
U4620 AL

U4368 Wheel Hex - Front - 2WD - White U7086 Big Bore Piston - 2 Hole Black 1.60 (pr)
U3871 KB
U7729 Pro

U4365 Wheel; Hex Rear - Black - Off Road - pr
U4366  Wheel; Hex Rear - White - Off Road - pr
U7460 Wheel Rear Off-Road - Neon Yellow v2 - pr
U7461 Wheel Rear Off-Road - Neon Yellow v2 - 5pr
U7469 Wheel Rear Off-Road - White - 5pr

U7501 CFf

_Qim . } U7087  Big Bore Piston - 2 Hole Red 1.70 (pr)
U4660 - Wheel Hex - Sfim - 2WD - Black U7433  Big Bore Piston - Blank Tapered (pr)
U4661  Wheel Hex - Slim - 2WD - White U7631  Piston: 3 hole - 13 Red - Off Road
U7454  Wheel Front Slim 2WD - Neon Yellow v2 - pr iston; 3 hole - 13mm - Red - Off Road (pr) KB Rear

U7455  Wheel Front Slim 2WD - Neon Yellow v2 - 5pr

U7456  Wheel Front Med 2WD - Neon Yellow v2 - pr . 4//’
KB = Kit Build, AL = Alloy, BR = Brass, CF = Carbon Fibre, CFf = Carbon Fibre Filled, Ti = Titanium U7869 C/F Right Hand Lower Trans M

U7457  Wheel Front Med 2WD-Neon Yellow v2 - 5pr \ - =
KC = Kashima Coated, Mf = Medium Flex, Sf = Stiff Flex, CNC = Machined, Pro = Precision Bearing U8208 C/F Chassis - LD2 U7466  Wheel Front Slim 2WD - White - 5pr =/ 'J

See P38 & P39
\ U7467  Wheel Front Med 2WD - White - 5pr )

"
U7667) (U7670 76t cNC| (U7669
AM640033 U7671 71t KB
U7676  Alloy Layshaft Stock Conversion
U7868 C/F Left Hand Lower Trans

U7398 +1.5
U7402 +3.0

CR024 KB
See above for
more options.

EXPLODED VIEW KEY:




